Ch 18 Review Questions

1. What is the pH of a solution that results from adding 50.0 mL of 0.100 M HCl to 50.0 mL of 0.330 M NH3? (Kb of NH3 = 1.8  10-5)
a) 1.00	b) 1.30	c) 4.38	d) 9.62	e) 11.16

Answer: d


2. What is the pH of the buffer that results when 12 g sodium formate (NaHCO2) is mixed with 250 mL of 0.50 M formic acid (HCO2H) and diluted with water to 1.0 L? (Ka of HCO2H = 1.8  10-4)
a) 3.29	b) 3.60	c) 3.74	d) 3.89	e) 5.12

Answer: d

3. A 25.0 mL sample of 0.300 M NH3(aq) is titrated with 0.300 M HCl(aq). What is the pH at the equivalence point? (Kb of NH3 = 1.8  10-5)
a) 2.78	b) 5.04	c) 7.00	d) 8.96	e) 11.22

Answer: b

4. The Ksp of PbCl2 is 1.7  10-5 at 25 °C. What is the concentration of Cl-(aq) in a saturated solution of PbCl2(aq)?
a) 4.1 × 10-3 M	b) 1.6 × 10-2 M	c) 2.6 × 10-2 M	d) 3.2 × 10-2 M	e) 5.1 × 10-2 M

Answer: d

5. What mass of NaF (molar mass = 41.99 g/mol) must be added to 1.0 L of 0.0040 M Pb2+(aq) to initiate precipitation of PbF2(s)? The Ksp of PbF2 is 3.3  10-8. Assume no volume change occurs upon addition of NaF.
a) 3.5 × 10-4 g	b) 0.0014 g	c) 0.0029 g	d) 0.12 g	e) 0.17 g

Answer: d

[bookmark: _GoBack]6. A 50.00 mL sample of vinegar is titrated with 0.584 M NaOH(aq). If the titration requires 32.80 mL of NaOH(aq), what is the concentration of acetic acid in the vinegar?
a) 0.0100 M	b) 0.0192 M	c) 0.0292 M	d) 0.383 M	e) 0.890 M

Answer: d


